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fﬁstructiﬂns Jor the‘candid&tes :

.. Candidate miust enter his / her
' Question . Booklet Serial N
{10 Digits) in the OMR Answer

Sheet.

Candidates are i’equired to give
Ihetr answers in.their own words -

as far as practicable.

Figures in the -ﬁght hand margin
indicate full marks.

15 minutes o:f' extra time have
been allotted for the candidates to

wnaf%ar T # read the questions carefully.
T g g g gel A ?»L 5. This question booklet is divided
Jua- 3?‘(!?:7 Gog-&/ into two sections — Section-A
and Section-B.
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Section-A, thoere ure

70 obfective type questions, oul
of which any 35 questions arc

"to be answered. If more than

35 quebtmm are unswered, then
only first 35 will be evalualed,
Each question carries 1 mark,
for answering these darken the
circle with blue / black ball pen
aguinst the correct option on OMR
Answer Sheet provided to you. Do
not use whitener / lquid /
blade / nail etc. on OMR
Answer Sheet,‘ otherwise the
result will be treated invalid.

In Section - B, there are 20 short
answer type questions. Luch
carrying 2 marks, out of which
any 10 questions"are to be
answered. Apart J[from these,
there are 6 long . answer
type questions, each carrying

- 8 marks. Out of which any
3 questions are to Dbe.

answered.

Use of any electronic appliances is
strictly prohibited.
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@UZ - & / SECTION - A

E‘lﬁﬁﬁf W9 / Objective Typ'e Questionsr

wyT WA 1#7oaarérmmé;mwﬁmﬁvw# fot @
Wwﬁhm#my#ww?ﬁm#omyﬁzw%%ﬂﬁrw

35w?r}asraﬁ?$: | _ _ 35x1=35"

Quesnon Nos. 1 to 70 have four options, out of which only one is correcl.
| You have to mark your se_Iecred optton on the OMR-SPLeet Answer any
-'35 quesnons - ' | ' ' : a 35x1=35
1. ﬁmﬂ—rﬁaﬁ H & aﬂﬁa’aﬁaﬁr% ? | |

(A) Rb | (B). .SiC

) I, _ | (D) NaCl

Which of the following is a molecular solid ? .

(A) . Rb _ - B) SiC
(.C)_ | L, B (}  NaCl
e & el i e o e v st B 2
(A) H‘HT%TT - S ® Rt
< - aq‘iaiﬂfi‘ﬁ . {P) égmraa -
* Which type of crystal has'maxi‘mu;ﬁ numbe} of Bravais Jattices ?
T.M) Cubic . (B Triclinic
| .{_C} - on;iqrhombic _(Dy  Tetragonal |
['118..].A. | . 88-0_14. | Page 3 of 32
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o e g ) v i 3 e A e s i &
(4) 5 - R (B) 4 | |
o 8 L f]:j 12
- The 'coc’:rdih_étion nu-mber 'of‘a ﬁetal in: hcﬁégonél éloséd packed
. arrangexﬁent.-is | | | | -
(A]l_'s- “?'-.(BJ."‘*-
L ©  8 o or 12 |
4. ﬁlﬂﬁflﬁaﬁ ffﬁ?f ﬁ%ﬁﬁﬁﬂ?ﬁﬁm% 3’
: @ o ', _' o ;[B.}_ _ﬁa&l
S © - Fe o o Hgo-
_ Wh.icﬁ of the_ foIlo{vﬁig.e:;hibi't's fe;foma'gnetism' ’-‘ -_ a

@ 0, (B Nacl

| (G- Fe o H_'lgo_.‘ S
5. R e o e & el ) e W AR E
e rﬁm?n - _.'.(B.} W I
© qﬂﬁaﬁT R &m?—m |
The 'I{umt_:er_ of mo;és of solute per kg of solvent is called
(A) Qoiariﬁ :(Bj 'annaﬁt}

(C}X F‘orn.la.l.ity o JEJ] .Molality. _ .
[118] A .. - 88014 ‘Page 4 of 32
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6. Mfwm%ﬁ;zuolmﬁzgmaoﬁqé%,a‘rﬁmaﬁmmﬁl%

(A) 025 | B) 05
{©) 100 | (D) S50

2 g of NaOH is dissolved in 200 ml of & solufion, then the molarity of

the solution is

(A) 025 B) ' 05
@ 1100 . (D) 50 : |
7. 1Mﬂﬁié€ﬁaﬂ?w%ﬁ$3ﬁ?ﬂ#1maﬁﬂqm$ﬁﬁm%.
(A] s | (B) e
€ T | Do) ¥ ﬁ‘paﬁ% &
The deprcssioh in freezing ;poi_nt of 1 M sugar sﬁlution_- in comparison
to that of 1 M sodium chloride solution s .
(A) -‘ greater | | (B) lesser
(C) equal *_ ' | (D)  none of these

. .-ﬁm%ﬁaaﬁwmaw@@ﬁ@ﬁwwé?

g ERICED ) fae
) e WE D) X A
[' 118 ] A - . . | 88-014 Page 5 of 32
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The particles of which of the following can- pass through semi-

- permeable membrane ?

(ﬁ]/ ~ Solvent - (B) Solute
(C)  Complex ion | (D)  Simple ion

9.  Uh TNHIS H THF SO e + 076 v ¥ 1 FHH HFAh IABT.

ferue &
A) 2x076V (B) tJ-ng
L%/—D-?EV ; | D) TR

The standard oxidation potential of an electrode is + 076 V. Its

standard reduction potential is

(A) 2x076V (B) 0—‘279 v
© -076V | (D) - None of these

10. A, NaCl SRS &ldl 8

(&) ANa* | . (B acCl”
| o | ANa”
Na‘t + ACl _ (D) -

(€} ANa’ -

AL NaCl is equal to

(A)  ANa’ B) acl
. - ANa"
*+ ACL D o
(©) xNa_ +?.~ | (D] p=
[118 ] A - | 88-014 | Page 6 of 32
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11. 'a%‘ﬁaaqﬁ:%m%%mmgéazﬂ—s’%ma%
Zn—2Zn2* +2¢ E_+0'?'6V
Fe—»Fe?t 42e - - E%= +04i \'%

e ﬂfﬂﬁm Fez++an—'_>Zn2++'Fi_e &1 forgd aresh & 4

A -- —.0-35\?' | . : (Bj +035v j
©y - - 1".17;'\; R : JD)/ £ 117V
The stanaard éIeﬁtrodq.ﬁotentials of the half bell reaction :ar_e
ZnAZn_2+ +2e. e -VE‘,‘L +076V
Fé«—vF‘ez-* +.2.e L EO = +_D-4.i \%

The emf for the cell reaction Fe2t + Zn—— Zn“" +Fé is
A -035V (B) +035V
© -117v . D). F117V.

12, %lﬂﬁﬁagnﬁr?ﬁAgNo ’r"aaa#@ 108gﬁwq?ﬁafw% &
(A)- 1 RS o {B]‘ lﬁ“ﬂiﬁ’ﬂ? -
(C) 1@'@' | (D) Eﬁﬁﬁéqﬁ |
The amount of electrlclty Whlch dep051ts 108 g of silver from AgNO

solution is

1 faraday - o - (B) 1l ampere
(C) 1coulomb B (D) = none of these |
h : Page 7 of 32
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13. 341‘!4%?41 A B % Tﬂu E}TT hi Ht“‘-i\‘l I i**ﬂwun *-l H:Hch :-;t{I plfTl ?
d[A] . _ -d[B]
(A) . —4aiz]
dt . _ . _ (B) dt
~d[A] ' - d[ AB]
(C -alAal |
/ dt (D) dt
Which. of the following wbuld-represent the rate of reaction A - B?
.~ a0 )
A 1 _
TS | | ®) dt
\y.l *d[Al o I .' D) d[AB]
s . ar
14 mﬁﬁ:ﬁ aﬁﬁm%éﬂf@nﬁzaﬁmaﬁ%
@ el | W
L © o Hiet ddusl tﬁc—rrla%‘liﬁval
'Thc unit of rate constant of a ﬂrst order reaction is
@) molLL! (B time™
(C) Lmol s ! (D) moll. L7l ¢!
15, Freteiea 4 sy = eiem e oo
_Ea | . _- ' _CAH
Ay K=Ae RT (Bl K=Ae RT
o &al e
(C} K=Ae RT - "= (D)  K=peRT
- Which of the following is'Arrhenius equation ?
_ €4 S ' AH
Ay K=Ae RT (B K= Ae RT
(C) K=Ae RT . (D) K=AeRT
[118] A - ~ [88014 ]
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ﬁm%i@aﬁﬁ#wumﬁ%aﬁaﬁw% ?

16.
(A) f.:k{sco-:::ch5 +H,0 »CH,COOH +C, kg GH
B 2N,05( — 2N;04.(gm +0,(9)
() NH,NO, —— N, +2H,0
D) 2HI — > H, ‘1,
Which of the following is a pséudp first ar‘dé'r reaction ?
__{A] CH,COOC,Hg +H,O0 —H' ,CH,COOH +C,H OH
(B) 2‘1“1205.(9).' — 2N,0,4(9) + O,(g
'(é] ﬁH4N02 —— Ny +2H,0
(D) 2HI'-—-—>H2l. ‘1, o |
7. ﬁmﬁ%ﬁ@ﬁﬁﬁn@@ﬁﬁ@ﬂ@mﬁqﬁaﬁﬁﬁw |
W wE B WeE
o W D FeH
Which of &1& foliowing 'enzymes g:dn-verts s.ugar'into :glucﬁse and
frucfbse? | |
(A) Diast;lse - A (B) Ma.ltase'
(C) Zymase - . \-—fB)'/Invertase |
[IIB]A o | 88-014 | _ S Page 9 of 32
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18, W @@ § uﬁmwﬁammﬁﬁmﬁlﬂ?ﬁmﬁ’ffm”f‘”‘
| fﬁ@ﬂﬂ?m&m%?

A s m) i
(C) WO . o) ¥

"Activated charcoal is generally used in gas _masku..It is based on the

: pnncnp]e of which of the rollowmg ?
\/m’ Adsorptmn o | (B) Absdrption

lC} | SOI‘PthIl L (D)  All of these’
19, ﬁﬂﬁ:ﬁﬁaﬁﬁﬁqﬁ mwﬁﬁ?ﬁ% ?
(A) _ﬁ'ﬂwﬁﬂjﬁqﬁaﬁﬂw (B) ﬁﬂﬁquﬁm
\(c:] éﬁv-maﬁﬁﬁuﬁm ) . & 1 5 F aRe
L Wﬁ_ich' of the 'foll‘:;w-ir:-lg is the st?a.,tc of colloidal solutior; in fog ?
\_@/ . Dispersion of gas in 'gas (B) .pispcrsion qf liquid in gas
(C)  Dispersion of solid in solid{D] Dispersion of gas in liqﬁid

20, iguﬁ@uﬁzﬁqmmm%vﬁwé:mwﬁﬂr%mgm%

W wER @) e
- © W B () %Fﬁﬁ
Milk cohtéins a- prbtei_n Wl-l_iCh is very good for ﬁga.lth. T.he protein is |
" (A) Caffeine | . - (B) .Calciferol |
'- (cy- Keratin . \_g/'Casein
[118] A [e8014] . Pagioore
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21 mwwmmwmm%aﬁm%

) W S B) @
© wgm @
The natural s‘ubstancz-i: from which extraction of mctal is ﬁrbﬁtablc is
- called . | _ _ . |
y IO.Ife - o o | | B} i&diﬁpral '
| (C) | S]ag | - | . (D) Gangue’
P _ﬁmﬁﬁ%ﬁiﬁ%mwnﬁﬁﬁammmﬁ
gare 2
W TR ®  fef |
(©) FE AR @) T
| By _'which_u_f the follciwinlg'iron_éxide is reduced in blast furnace ? . -
(Ai_' Limestone (B  Silica
. Q(Q/ Carbon monoxide - "-{D] - Carbon -
03, m‘ﬁaﬁr%mﬁﬁa’ﬁaﬁﬁﬁqu@wﬁm% 2
W PR ® R
(©) Fa'éa? b e
Whlch of tha follo.wmg metals is obtained by cya.mde process ?
(A] ~ Chromium - _ .' .(B)" Coppcr
‘(E‘,/S ver o .A .' .(]-3] -I Alummmm
(11814 T [88014] | Pamtlota
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ST ﬁwmmﬂﬁﬁﬁﬁ?%?,

() A04.3H,0 . . B A1203-2%0—__'
(C) Altg 0, . p TR 3#&” W
Which of the following is correct formula c;f | bauxitc ore ?
(8 A1,0,.3H,0 (B) Al,O,.2H,0
(€ _ﬁIEIO 3 - (D) - ‘Nt;)_né of these.

25. ﬁﬁ%{ﬁaﬁﬁﬁmﬁﬁwﬁﬂﬂ%ﬁmﬁ%? R
@A) TR s ®) g e :
€  SITRIST TrEaTReeIee D @W@W@W feT

Which of the following is called laughing gas ?

(A) Nitric oxide ‘(’B)/ Nitrous oxide -
(C Dinitrogen trioxide (D) . Dinitrogen pentoxide |

26, frAfeiea o 1 Brifess e & 2
®)  HgPO, | (B) HLPO,

(€ HaP,0, (D) . H4 PO,
. Which of the following is tribasic acid ?

(A) Hsi’og,' . (B) . H,PO

(€) H,P,0, . m,ro,.
\/ 3774
[118]A  [&o] . g izt
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27. SO,® S FH Haor g1 ¥

{A] sz ’ . - . (B] 5353.
C} « sp3d ‘ '(D_] op a2

What is the h};b.ri"idi'-z'ﬁﬁoﬁ:of_s inSO, ?
y/jépé . T ;is] sp®
[Q]_ spd ‘ - (D) 'spaidg'
28, TR ] F FE & Pl e g 2
Cw s @ s
-{'Cr]' Sg L. | ' --,(D) 'Iéa_
By which formula sulphur. molecu‘llé is repreééﬂtec__i 'J |
©) s, m sy
29, _Cu(--z=29]$r3éa§iﬁ3€ﬁ?fm%
_ m-} _ [Ar13d9432 .. : {B]_- '.'[Ar,]ﬂédm"?-s-.l.'_
O (aisdstet D [Ar13a%as%4p®
The elec_.t;_ronic configuration of Cu (2 = 291) is. o
(A) [-Ar.}-3d94s.2' . (B]I_.'. -[Ar_}f_:u;cilﬁt.l;sl_-__

© {Ar]3d®as?ap! . (D) [Ar]3d°4s%4p®

[118] A S | 88-014 . Page 13 of 32
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30.

j

Fe1 | S e uig stemed SEEE Fe I
(A) Fe(Z=26) - (Bf Mn(Z=25]
(C) V(Z=123) (D) Cr(Z=24}

Which of the following transition metals exhibits maximum oxidation

state ?

w/}?e(bza} (B) Mn(Z=25)

(C) V(z=23) (D) Cr(Z=24})
(a) TP (z=22) | B) ScF(z=21)
(C) Mn?*(z=25) (D) 2Zn?*(Z=30)
Which of the following contains ma-ximum number of unpaired
electrons ? - |
(A)  Tict(z=22). . (B) ScoT(z=21)
(C) | Mn?* (Z= 25) (D) zﬁg’f('z—. 30) .
32. St ARl RS e FreRaw o fea =i & st o § 2
(A)  s=AH B) pii
© a=H - (D) fdE
Lanthanide elements belong to which of the following blocks in -
Periodic Table ?
(A) - s-block - . (B) ;:)-block
() d-block D)~ fFblock
[ 118 ] A 88-014 Page .14 of 32
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33, | Ni(CO), | & Fibet =) siterdientor sraren &
A +1 (B}I 0

€ +2 - : (D) +3

The oxidation state of Ni in [ Ni{CQ) 4l s |

@A +1 S ® o
S ;-2 o | (D) +3  |
34, [Fe(Cy0,),)3 Sewt ST | TE S HI FHe Wefl &
A) 3 | B) 4
c 6 D) 12

The coordination number of iron ion in complex ion

[Fe(C,04) 417 is

C{)}f 3 B 4
) 6 | D) 12

35.  fRife (C H N ) Frfnaa # fomy s 1 feris @ 2

(A) qﬁé‘éz%ﬁ"@ o {ﬁ]- a'rzé‘éz%lﬁ@
€ e ferie (o) g feig
Pyridine (C;HgN ) is which of the fol-lt_:iwing types of ligands ?
{A} - Monodentate ligand (B) . | Bidentate ligr—..lnd
(C) ﬁdeﬁtate ligand - (D) Tetradentate ligand |
[118] A | | 88-014 | Page 15 of 32
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m Ni(CN) ;] 2" WaﬁaﬁﬁrﬁmﬁiﬁﬁﬁW% ?

. 37.

() T @ wwwdEE
(C) T<=HemE o) TR P

. Which of the following is the geometry of [.Ni[CN]4]2_ i_on ?

\@’ | Tetrahedral t[ﬁy/square planar .

(C)  Octshedral ° " (D) None of these

@ el g ofei

(). udifesily (D) uwdq
Ethyl1 bromide on boiling with alcoholic caustic potash gives
(A) Ethyl alcohol - (B) "Elthyle'ne-

(C)  Acetylene | \[9;/ Ethane

38. T d |19 At i & '?'

(A} cocl, - ®) . ccl,

C) CF, | -
(C) 4. | {D]_ | CF?Clz o
Which of the following compounds is fefrigerant ? |
(4 coci, } B ca,

(© CcFr, .- (D) CF,Cl,

11181 A | 88-014

Page 16 of 32
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frrfafaa o+ el demse ¥ 2

39.
(A) CH,=CH-CI (B) - HC=C-CH,Cl
() CH,=CH-CHCICH, (D) CH,=CH-CH, CH, Cl
Which of the foﬂowihg is-allyl halide ?
() CH, =CH=Cl B HC=C-CH,Cl
©) CH,=CH-CHCICH, (D} CH,=CH=CH,CH,Cl
40, S99 % Fedeer | sfufranier wwd ®
(a) cCrt = . (B) C1”7
€ Cl, = D) - Cl;
In the chlorination of benzene, the reactive species is
(A) Ci7 ' B) - __cr
© <, - ©) CI;
a1 Tyetefied @ Seeier T Tt e H IURAT WA ¢ ?
(A) CHOH (B) —CHOH
(€©) =c-oH - (D) —0-
Which of the following functional groups is present in primary
alcohol ? |
(A) CHOH | (B} —CHOH
© 3c-oH BT —o- |
[1 18 ] A _ 88-014 ' Page 17 of 32
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42 ST o e e £ §
(&) Frareier v (B)  HuEEEE
(©) WW&P{ L (D) ﬂg@wwraaﬁﬁ

_ Dlethyl ether ancl Methyl propyl ether are

(A) | Functional i'sc?mers \P}/ Metamers

Q). Positional isomers (D)  Chain isomers

43. Wﬁﬁ%ﬁ%w%wﬁ#ﬁﬁm&@aﬁﬁﬁm% ?

@) st S (B SR

© 2.4, 6-‘9’1@131%;?'@ o 'fﬁm s

- Which of the follovmng is formt;d when phenal reacts mth bromlne
water ? | | |

'[A] ' Bromoﬁenéenr;' ' | (B) Dib_r-omtjph;f:no]

- ﬁ/ 2, 4, 6-T ﬁbmmopheﬁol (D) | PiCTi{.ilaC'ld
44, Frafafad dfmel § S siedea gEt S99 30§ 2 |
TR TR (@) ST T

(©) n-gfeH TRlEA (D)  FrEMeET TeREer
Which of the fq].[o{ving compounds on oxidaition gives a ketone ?
(A) Isopropy! alcohol ' (B) - Isobutyl alcohol
(C) n-butylalcohol | (D)  Neopentyl alcohol
(118 ] A | | 88-014 |  Page 18 of 32
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45.

y P

ufezeTsz #1 fFamiier go ¥

B =
(D) ~COOR-

The functional group of aldchyde is

A L (B -E-—H
€@  -o- " (D) —COOR~
46, . FAfafEd 4 fras dedmor @ H@2A T g & 2
. (A) CH,CHO (B) C,HzOH
(€ CH3CHKﬁﬂCH3 (D) CH3OH
_ The oxidation of which of the following gives acetone ?
| mj CH , CHO '(B] C,HqOH.
. (©), CH,CH(OH)CH, (D) CHZ;OH
47. e 3 s e S s dd & 2
(A) CH,CHO | - (B) HCHO
f'mn CH 4 COOH (D) caséocﬂa
Which of the following gives Cannizzaro's reaction ?
(A} CHLCHO o (B) HCHO
©) CH,COOH - (D) CH,COCH,
Page 19 of 32

[118 ] A 88-014
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48.  T2-1-3M% HgSO,, T4 H, SO, & U aﬁmmﬂg .
A CHSCHéCOCHS ~© (B). CHLCH,CH,CHO

(C)  CH4CH, CHd qATHCHO (D) - CH4CH, COOH adr HCQOH

But-1-yne on_re.actiqn with HgSO 4 | and H, SO, gives

(A) cH 3CH,COCH, (B) CH,CH,CH,CHO

(©  CH, CH 2 CHO and HCHO (D] CH; CH, COOH and HCOOH

49. IS THIBTEI T W?ﬁrﬂmlﬁg
@& C HoO 8 C_H, ,COOH

€ CH, 0 . D cCmH, OH.

n 2n+2 n 2n+1
'The general formula of saturated monocarboxylic acid is
(&) . C.H, 0 (B cnﬂgml'c'ooH

(©). CHy, 50 | D) C.H, . OH

n" "2n+1

50 @%mwmﬁmw%wmmﬁwﬁﬁr%ﬁ@aﬁaﬁqm:
| -

@ooeH, B) © C,H,
{C) : CH,COOH (D) Cg-lH‘},-

| Which of the followmg is formed when sodmm acetate is heated with

Page 20 of 32

soda.].tme?‘
@A) CH, B cyH,.
(C) - CH3COOH @ C,H,
[118]A = 88-014 | T ————
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51. @mﬁaﬁﬁmﬁaﬁmmaﬁc%%ﬁ?ﬁwwgm
W R A ¥ Fr § @ 57 Se-a 9w w2
a) A B
(C) Qﬁ\ﬁa?arra _"(D]_mwﬁﬂﬂ

An organic compound on reaction with saturated solution Of'.
NaHCO, gives effervescence. Which one of the following is that

compound ?
(4)  Alkane . (B) Alkene

\/)/ Acetic acid . (D) E{hyl alcohol.
52, ﬁm%‘ﬁaaﬁaﬁqmﬁa‘aw%? |

(A) CH,COOH .~ (B) CICH,COOH

() ClI,CHCOOH ‘(D] cl -C_.COQH

Whlch of the followmg is the weakest acid ?

(A} CH,COOH | (B) CICH, COOH
(S}~ Cl,CHCOOH D) c1_3c_.coori
| CHg = |
53. CHS—C NH, ﬁtﬁrﬁﬂf@ﬁﬁaﬁ‘—r% ? '_
(&) STt Gl _' o (B el e
€ Rt A (D) R @A
Which of the following is CH3-(IT—NHQ ? A
| | " CHz
{A)  Primary amine | | (B) . Secondary amine
\_(,Ci/rTertiary amine . (D) Quaternary salt

[118] A | 88-014 | ' . Page 21 of 32
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Sa. et defes et @ Frffiae # e PR S E 2
| (A 100w | @) 2o UHN

© 3 D) | = | ol
Which of the following is prep-amd by Gabriel phtlmli:nid? S}'l‘lthﬂ‘SiS ?
(A} 1° amine ~ (B). 2°amine |
(C)  3° amine | _ (D)  All of these

5. Wﬁﬂﬂ?ﬁmﬁﬁﬁﬁaﬁﬁmmﬁmwiﬁ“ﬁ“ﬁ?
T ST i T e 2 | -
(A)  NaOH (B) CH,COC

(C)  NaNO, +HCl D) H,SO, -

A colourless, odourless and non-combustible gas is evolved when

ethyl amine is treated with which of the following ? -

(A) NaOH (B) CH,COCI

' y/NaNOQ + HCl (D) H,S0,

56. . fAfafed 7 i Faat sfvemds ¢ 2
@) I FERETTES (B) o wewifTE s

(€) T IR RS (D) I Sewret Teikes
[ 118 ] A ~ [s8014
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Which cIJf the following is Hinsberg reagent ?

(A) Benzene sulphonazﬁidc |

(B) Benzlene sulphonic acid

(€) BtImZ_ene sﬁlphuryl chloride

;\}Dl/ | Eenzene sulphonyl chloride
57.. QAR st & qrn STTeT e W ¥
(A) = -~ COOH T (B) - NH, W&
(C) | - CH, ¥ o (D)-i-COOHT{é-‘NHZﬁW

Functional group(s) present in amino acid is/are

(A) - COOH group

JB)/ - NHQ group

{Q) - CH, group
(D)  both - COOH and - NH, groups

< ftfetan 3 foaet e @ AR 2

58.
(A) e B2 | - (B) ﬁafq:r,q
(C) T C D) f‘aafcmg
. Night blindness is -.caus.eﬂ_ due f;:.the .deﬁciéncy' C'.f'whi‘:h of the
following ?
(A) Vit_amin B 12 - (B) _. Vitamin A
(C) '\IfitaminIC | "'(1:";]. Vitamin E |
. l_ﬁs;old'—— - ‘ Page 23 ol 32
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59.
&) HN - CH,COOH ~ (B)  CH,COOH -
-(cj | CHSCHQNHé | (D) CHyNO,
Which of the following is capable of forming Zwitter ion ?
@) H,N - CH,COOH . ® CH,COOH "“
(b] _ CHSCHQﬁHQ '_ (D) E:HSN(,)fz
60. EIT - $T9G FHeeArdl &
(8) WA - (B) ST e
© e . D) TERE
1 The h},rdlralysi.s of sucrose is;; c-allcd _
(A) Sé-ponif_ir.:ation . @/ Hyd_roiy-sis
(C)  Esterification’ : (D) | Inversion:
6l -ﬁﬁ%ﬁ%ﬂﬁ?@ﬂ%ﬁm@ﬁaﬂﬁ#m_mgﬁ%j ,
(A) af—ﬁﬂtfl‘—r - B) 31!3@51’1? o
© FEEE .. . p) s
' --Nec:)prehé rubber is.obtained by the polymeﬁsation of which c-f the
following ? | |
(A) Chlorcl)pl;ené - | | | i{B] - Isoprene
(C) '-Butaéiene | (D)  Acetylene
[ 1181 A . - 88-014 |

Page 24 of 32



@
1 b
i
:

W SeE @) TE@Ed
{C) <= =® ~ -
(D) ameiige H

In which of the following polymers is ester linkage present ?

&) Terylene (B Nvlon

{C) Teflon D) Bakelite
63. WEEw ""'Eﬁq“?imtﬁl S IR T

SV S | B PVC

C) == D) -6, 6

The product of . 5 .densation polvmerisation is

(A Polvthene - (B) PVC

(C} Teflon | (D) Nvlon-6,6

64, U T d Sgow S WAzs ag e § 7
(a) TEEE-6,6 ®) e )
() T | D) e

In which of the following polymers, is amide linkage present 2
(A}  Nylon-6.6 ' (B) Terylene

{C})  Teflon (D) Bakelite-

[118]A | 88-014 | Page 25 of 32
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65. Pt 4t W TRES ¥ w9 § STE Rear e 0
w W @ W e
©) | H’lﬁwdﬂ'\%z ' (D) afmm

Which of the following is generally used as preservative ?

(A)  Sodium cyclomate  (B) Sodium benzoate
(C) © Sodium acetate . D). Vatium. N o
66. WﬁﬁW%@ﬁﬁﬂﬁ%ﬂmWMm% )
e ® e
(C) R ricsicae (b)  HRER

Which of the following is used as analgesic in acute pain ?

(A)  Aspirin i (B)  Phinacetin

(C) Paracetamol N .{D] ‘Morphine.

frimd I
@ FEEs @ e
(.Cf et~ p) e

Phenol is | | |

(A)  Insecticide 5 \9\/ Anﬁsep@

© | D.isinfecta;lt B [D]I Antacid

[1 18.] A - [ 88-014 Page 26 of 32
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(A} IRTERE | ) O

© Rt - (D) aﬁﬁqﬁn‘ﬁ?ﬂﬂ |

Which of the following is broad spectrum antibiotic ?

(A) Pgracetambl | | (B) Pelnicillin.,
- (©  Aspirin - (D) cmoramphenicoi_'
60. Frefenfian F Rt getegi g W e & 9

W F @

- () Br o N

" Which of the following has highest eléctron affinity ?

{_Al- 3 s B Q

R (O - S | D) 1 | |

70. Wﬁﬂﬁhﬁ?%@ﬁﬂﬁﬁ%ﬂﬁﬂﬁ |
) el TR ®

)~ TEEERINEs s (D) FH W HR W
Which of the following' is .forrr'i_ed- when acetaldehyde reacts with

chlorine ?
(A)  Acetyl chloride (B)  Chloral

(C) Dichloroacetic acid (D) - None of these

(118 ] A | [ 88-014 ‘ . Page 27 of 32
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@vz - @ / BECTION - B
oY T 7./ Short Answer Type Questions
v wwar 1 @ 20 &9 FOT & 1 fAT 10 WA & I G | geE # forg
2 3w Praffta § - 10 x 2 =20

Ouestion Nos. 1 to 20 are Short Answer Type. Answer any 10 questions ich

. question carries 2 marks : 10 % 2=20
\3/ 7 A TER T S o g @ g e | 2
: Calculétc the nur'nber‘ of atoms in a body centred cubic unit cell.
3/ o St 3 4 e o ferd AR 2
Write two important propertieé of ionic crystals. o _ '
3 éqammﬁé%ﬂm%swﬁﬁqaa‘rﬁmﬁl 2
Write Faraday's 2nd law of Electrolysis. .
N e o @ § 2 ST £ o 2
What are colligative properties ? Give examples. | |
5/ e & an fegs o €1 - 5

Define rate constant of a reaction.

Ffergioer wo sawiew f Sfol waAd L S 2

Q |

Differentiate between adsorption and absorpﬁon.

Q

"I Y IR & A ARG . 2
Explain 'Emﬁlsio_n' with examples. , | _ .
8,  41g % dga wiuT ¥ o7 1 IR € 2 2

What do you understand by Electro-refining of metals ?

[118 ].A . 88-014 |  Page 28 of 32
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10.

11

12.

13.

14.

. 15.

16.

Czr A Hrwwm'ﬁﬁlﬁﬂ 7 |

) KglFeCNgl i)

-'wwﬁwmwﬁqﬁwa

Rl 'E"WWW;%W@mm%l"ar@nﬁl 2

“The boiling point of ammonia is greater than that of phosphine.’
Explain.
“W$WWWﬁ§WHESﬁﬁFJ"ﬂ@TﬁI 2

"Water is liquid but H,Sis a gas at room temperature.” Explain.

Why do Zr-and Hf exhibit similar properties ?

ﬁm%‘ﬁaﬁﬁaﬁau@wqéwﬂﬁaﬁmm(mmﬁmﬁ

(i) K4[Fe(CNJg] @) NiCO),
Calculate the Effective Atomic Numbérl[EAN} of centl'gnl metal atom in

the following —
Ni(CO) 4

wﬁm%aﬂ@ﬁﬂﬁﬁmﬁaﬁwﬁﬁﬁqﬁﬁﬁ% > 2 |

hol. rcacts with bleachmg powder ?

- .

What happens when ethyl alco

@am@wﬁﬂmm@mm ?

How would you obtain Diethyl ether from Ethyl a_lcqhg'l'? .

e Aldol condensation w1th an example

HTER FATE ? AW H - 2

Defin
Frelfaaiers o< T A & ﬂwaa’r

Why does carboxylic acid b;ehave as eicid ? Explain.

| : 9 of 32
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17.  F=1 =1 1upac 9 fog -

(1) (CHngPHNHQ

(i) CH, - NH - CH,CH,

Write [UPAC names olf the following :
()  (CH,),CHNH,

() CH, - NH - CH,CH,

18, mﬁwaﬁmﬁmmmaﬁ?ﬁf

S

Describe in short the primary snl'uctilre_ of protein. | |
19, ﬁrﬂ%rﬁaa%@-@wm%: '_-‘ B .a

@ mﬁﬁrﬁ AR

{iii YA a-gfaasl |

Give an exa::;'iplenof each ;)f the foﬂowing :

(i Synthetic polymer

(i) Condensation polymer.
20. T FOuS S W uw Gt feouht s

Write a short note on Anti-fertility medicine.

[ 118 A ' 88-014

Wi
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| | ﬁwm / Long Answer Type Questions
m.mm#%ﬁﬂcﬁﬂwﬁyﬂhﬁrﬁswﬁimifm%
Y 5 o0 Fraifid 3x5=15

Question Nos. 21 to 26 'arelLong Answer Type Questions. Answer any

'3 quest:ons Each quesuon carries 5 marks : 3 x5=15

21 i "Qﬂﬁﬁw%ﬁg@m%wwmﬁﬁqwﬁ@z 2
() W%WW@W%WHWW
&W'WT?TI?IT%? S -3

(i) Write the names énd chemical formulae of two chief ores of

,Aluminium.

(i Why is Cryolite mixed during the extraction of Alummlum by
electrolysis of Alumina ? httpb /Iwww, b]hartopper com '

_22.-' {i]. ﬁmaﬁmﬁmw%?wz’m%ﬁmma:ﬁw
(i) mﬁmwéﬁuﬂm%mﬁ7 - | .,

(i) What is Nesslers reagent ? What happens when ammonia gas is

~ passed through a solution of Nessler s reagent ?

(i) © Ammonia is a Lewis base. Why? |
oa,  Frefeifae statmel o f d A ford ;. dx2i=5
)  ErEEA sHmEe sfuma
q) R SRR |
[118]A | 88-014 Page 31 of 32
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Write in brief about the following reactions :
(i) Hofmann Bromamide reaction

(i) Clemmensen's reduction.

24, ()  DNA TS RNA § =R TaRQ| 3
| i) g W FTE ? | | 2
()  Differentiate between DNA and RNA.
(i)  What are nucleic acids ? | -
25, (i)  OTISY 3R AR Ui ¥ R qaqH | ' 2
i) Frafefes o afewwr g . R 3
(a) T
(b) . HiTeTT
(c) HIeT TH

{1) Differentiate between Ideal a:r;d Non-ideal solutions.
(ii) | Define the following : | |
(a) Molarity
(b)  Molality

(c) Mole-fraction. | . _
26. Wi TS fadias 961 T E 2 IS0 IF WH |

What are primary and secondary cells ? Explain with examples.

[118 | A ‘ | 88-014
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